# Xéc dinh gia tri bién (+, -, X, +)

Ho va Tén:
Tim gia tri cta x. Cau tra loi
D) 94+ -8x =62 2) 13+4x=25
1.
2.
3.
3) -4x+50=30 4 73 +-4x =49 4.
5.
6.
7.
S) 5x+26=66 6) 112+ -9x =85
8.
9.
10.
D 77 +-1x=68 8 81-7x=153
11.
12.
9 2x+4=16 10) _1x +29=21
1) 53.7x=18 12) 189 -13x="72
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Xac dinh gia trj bién (+, -, X, +)

Ho va Tén: Loi gifli

Tim gia tri cua x.

Cau tra loi

1) 94 +-8x=62 2) 13+4x=25 4
x=4 x=3 g
2 3
3 5
3) -4x+50=30 4) 73+ -4x =49 4 6
Xx=5 X=06 8
5
6 3
7 9
S) 5x+26=66 6) 112+ -9x =85
X =28 x=3 8 4
9 6
10. 8
D 77+ -1x =68 8 81-7x=53 5
11.
x=9 x=4
12. 9
9 2x+4=16 10) _1x +29=21
X=6 X=28
1) 53-7x=18 12) 189-13x="72
X =3 x=9
. 1-10 92 [83 [ 75675850 [42[33][25]17]
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# Xéc dinh gia tri bién (+, -, X, +) Ho va Tén:

Tim gia tri cta x. Cau tra loi
8 6 6 8 4
9 4 3 3 5 1.
D) 94+ -8x =62 2) 13+4+4x=25 5
3.
4.
5.
3) 4x+50=30 4 73 +-4x=49
6.
7.
8.
9.
5) 5x+26=66 6) 112+ -9x =85
10.
7 77+ -1x =68 8) 81-7x=53
9 2x+4=16 10) _1x+29=21
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